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QUESTION 1

What haul only for those with whom they have a specific formal contract or service, not the general public?
A. Contract service

B. Contract carriers

C. Contract capability

D. Commodity contract

Correct Answer: B

QUESTION 2

Purchasing and production activity control:

A. is very short, perhaps from a day to month

B. the level of detail is high since it is concerned with individual components, workstations and ordered
C. Plans are reviewed and revised daily

D. All of these

Correct Answer: D

QUESTION 3

A company wants to minimize the cost of manufacture and also be flexible enough to adapt to changing needs.
Changes to production schedules can result in the following EXCEPT:

A. Cost increases due to rerouting, rescheduling, extra setups, expediting, and buildup of work-in- process inventory
B. Decreased customer service. A change in quantity of delivery can disrupt the schedule of other orders

C. Loss of credibility for the MPS and the planning process

D. Process create more scraps than needed than needed

Correct Answer: D

QUESTION 4

A company wants to produce 500 units over the next 3 months at a level rate. The months have 19, 20 and 21 working
days, respectively. On the average, how much should the company produce each day to level productions?

A. 8.3 units
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B. 88.8 units
C. 8.9 units
D. None of these

Correct Answer: A

QUESTION 5

The available time depends on the number of machines, number of workers and:
A. resource assistance

B. Work effort

C. hours of operation

D. Plant and equipment

Correct Answer: C
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